Surpresseur
Racer

lcv

C-11-002236

(R%)
=

No. Code CPF Référence Fournisseur Désignation Code Barres Conditionne | PU HT EUR
ment 2019
1 C-11-208168 88601007 BOUCHON DE PURGE 5020112081686 2
2 C-11-208169 65432002 JOINT TORIQUE BOUCHON DE PURGE 5020112081693 2
3 C-11-208170 647255201 CORPS DE POMPE 5020112081709 1
4 C-11-210740 65221015 VIS M8*55 5020112107409 4
5 C-11-210741 65244005 JOINT TORIQUE VIS M8*55 5020112107416 5
6 C-11-210742 65431142 JOINT TORIQUE CORPS DE POMPE 5020112107423 1
7 C-11-210743 647255204 BASE 5020112107430 1
8 C-11-210744 65233022 ECROU M8 5020112107447 1
9 C-11-210745 647255209 MANCHON 5020112107454 1
10 C-11-210746 647255208 CARTER BAS TURBINE 5020112107461 3
11 C-11-208172 647255271 TURBINE 5020112081723 3
12 C-11-208171 647255207 DIFFUSEUR 5020112071716 3
13 C-11-210747 647255203 PLATEAU D'ETANCHEITE 5020112107478 1
14 C-11-210748 65244023 JOINT TORIQUE AXE MOTEUR 5020112107485 1
15 C-11-208173 65028069 GARNITURE MECANIQUE 5020112081730 1
16 C-11-208174 65431143 JOINT TORIQUE FLASQUE 5020112081747 1
17 C-11-210749 647255202 FLASQUE 5020112107492 1
18 C-11-210750 647255210 PIED 5020112107508 1
19 C-11-210751 65231004 ECROU M8 5020112107515 4
20 C-11-210752 65023148 MOTEUR 5020112107522 1
21 C-11-210753 65226020 VIS 32*5/8 5020112107539 1

Wwww.racer-piscine.com




